
Q1) Write the answers of following questions in 20 words (any eight) : [16]
a) Write the names of agro-based industries.

b) Name the city in which first cotton mill started in India.

c) In which district was the first co-operative sugar factory started in India?

d) What is balance of trade?

e) What is international trade?

f) Give any two reasons for the use of air transport for light and perishable
goods.

g) Name any two cultural factors that affect tourism.

h) When was India's first national tourism policy decided?

i) State any two elements of map.

j) Give any two disadvantages of choropleth map.

Q2) Answer the following question in 50 words (any three) : [18]

a) Textile industry in India

b) Types of communication.

c) Problems facing the tourism industry

d) Advantages and disadvantages of Pie diagram.
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Q3) Answer the following question in 100 words (any two) : [16]

a) Explain industrial pollution with suitable examples.

b) Explain the role of communication in trade.

c) Write a note on state government's policy for tourism development

Q4) Write the answers to the following questions in 300 words (any one) [20]

a) Explain geographical and cultural factors affecting on tourism.

b) Write in detail the industrial location theory.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) H¥$frda AmYmarV CÚmoJm§Mr Zmdo {bhm.

~) ^maVmV n{hbr gyV{JaUr H$moUË`m ehamV gwé Pmbr?

H$) ^maVmV ghH$mar VÎdmdarb n{hbm gmIa H$maImZm H$moUË`m {Oëh`mV gwé Pmbm?

S>) ì`mnma g§VwbZ åhUOo H$m`?

B) Am§Vamï´>r` ì`mnma åhUOo H$m`?

\$) hbH$m d Zmed§V _mbmÀ`m dmhVwH$sgmR>r hdmB© dmhVwH$sMm H$m Ho$bm OmVo `mMr XmoZ
H$maUo Xçm?

`) n ©̀Q>Zmda n[aUm_ H$aUmao H$moUVohr XmoZ gm§ñH¥${VH$ KQ>H$ gm§Jm.

a) ^maVmMo n{hbo amï´>r` n ©̀Q>Z YmoaU H$Yr R>a{dÊ`mV Ambo?

b) ZH$memMr H$moUVohr XmoZ _wb ŷV A§Jo gm§Jm?

d) N>m`m nX²YVr ZH$memMo H$moUVohr XmoZ VmoQ>o gm§Jm.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr àË òH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) ^maVmVrb H$mnS> CXçmoJ

~) g§Xoe dhZmMo àH$ma

H$) n ©̀Q>Z CXçmoJm g_moarb g_ñ`m

S>) {d^mOrV dVw©i nÕVrMo \$m`Xo VmoQ>o

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) Am¡Úmo{JH$ àXÿfU CXmhaUmgh ñnï> H$am.

~) g§XoedhZmMr ì`mnmamVrb ŷ{_H$m ñnï> H$am.

H$) n ©̀Q>Z {dH$mgmgmR>r amÁ`emgZmMo YmoaU ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË òH$s 300 eãXmV CÎmao {bhm (H$moUVohr EH$) [20]

A) n ©̀Q>Zmda n[aUm_ H$aUmao ^m¡Jmo{bH$ d gm§ñH¥${VH$ KQ>H$ ñnï> H$am.

~) Am¡Xçmo{JH$ ñWmZ {ZpíMVrÀ`m {gX²Ym§VmMo g{dñVa dU©Z H$am.




